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 .   a , v0%��ب )2

r = a θ² = 0,08→ a = 2 m.s-2 

at² +v0t
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 x-x0= 

  :ر ا�<��ة ا=و�> %�;&:��

= t – 0 =0,2 s  θ  

x-x0 = 0,08 m 
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. 2 . 0,04 + v0 . 0,2
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0,08 = 

v0 = 0,2 m.s-1 

 : D�fة اF%�-�ك %��ب  )3

 a =g . sin α = 5 m.S-1إذا آ�ن ا�"��Dي ا�"�J, أ�G� HIن 

  (-�a =2 m.s-2    � اO�(.� ,J�"ي ا�D��"��.    

P + R + f = m a 

  :+�R*�4ط D�� <IPر ا���آ� 

P sinα – f = m a 

f = m(g sin α – a) 

f = 0,1(10 sin 30 – 2) 

f = 0,3 N 
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P=m g  

 <IP �4ط*R�+Ox   :  

0 = m ax→ ax = 0 ←   �"1��� �"�4��� ا���آ�.  

x= vx t = v0 cos α t 
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2.2.2,2404,0v2

O =− 

v0 = 3 m .S-1   

x = 1,5 t ).................           1(  

 <IP �4ط*R�+OY :  

mg =maWو��     a = g = cte.  ة +�&��1م��"� ��3�ا���آ� ���4.  
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ytvat y ++ Y= 

v0(y)=v0 sin 30 = 1,5 m.s-1 

y=5t² + 1,5t)...............         2(  
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J(OJ cos 60,OJ sin 60) 
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0,87OJ = 0,185 OJ² +0,29 OJ 

   م eـ0.29 +2 م eـ0.185=  م eـ 0.87 

3,1 m ≈OJ  

 
 
 


